| Paper:

H SINDHI

| Set Name: H SINO1

|ExamShiﬁ: HZ

| Exam Date: H 24 Aug 2022 ‘

| Langauge:

H Other

| Section: H SINDHI

| Item No: H 1

Question
ID:

1108101

Question
Type:

MCQ

Passage:

&f® 29 ga & o= @i ud gare sare f3a -

“TT ¥ d g Sig Qi1 ST STl g9 UUT § 31 qurdl gl. g4 HIvgat Sit fgAd oiig Ha =i §97d 31Te;
R g Ifgst d Tt &g 3 i 7fg of1g A gfest Aid @ gfemrg gforat oo, srftg #1vg ong. g7 @
THETY] Hfgst a9 @i F1fex oM. We!  adi off T Af G910t g4 & R d it Haly G Asiig U g
& AT ST A for 25 Sgfa.”

ferg £ig fegf™ @ Raa=moft |ifgs &t &R @ drelr o ua gl | gqfer v aifgs o gar. o™
arg oreft dar. BR H oY dhrag ATE AT @i @ik o11g I, W g @ S8 amed & {3 @er diE
gs. ¥ Eig oI o, R d Jgl § dlell. chig @ ol o @aR i, fgen Tifcg SR ot d hieh o @R #i
Srofte fore Sft afe ot @ g8, 38T FRIera oot fy ararsdter S dondtar @i s, anfer feg €ig
arefte # Ruté &g 3. dreh S 8= St aTet ST ). SieR Y ahich s4) faemmoftar St amgl, ik @ ger
2 Aift aa) g1, o Wi uielie @ s gad ffern, @ R & @l andward! ARad 8. R Ui, o
e, o3 ewads ¢ wier o uiela Sft s gy oft 35, diefia afef @i ger mer & ) &
STaTg 2. it @ $gY 10T g1 d STarel S 7! Uleid STt STid J ST T@al. A Ufgst 8= ST RaTsi oig &Y
fog uror @i gfeg@, ¢ g digsht adust ®ur @i gfsafa q «1g dige sifgsl H1vg 81 srdeaard! off
Y T w7 ST fge § STy 3 d 9814, ¢ §RR gR 5ar= # i {9, R W1E T1gd ST ahed 2t
Higslt a saad A1 fayrg € Aad gt ong. &g d Ay oot! g1 a daRI dIeh! g de et Il
i far 821 R Snfedl. I A1 g4 & fthd @ wwsh qut gi! S2fg g 9 @i garg & et 8, ‘3
g Al g qH 1!
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| Item No:

E

Question
ID:

1108102

Question
Type:

MCQ

of® f29et e & o= 4f Ul gara sare 2t -




Passage:

“UT! ¥ d g Sig RIS ST §Y °UIT § 317 GeTa B1. § HIURST STt fgAd &g A ISt §91d 91Te;
W g Sl d 3@l g 318 Sl g 15 [2d Jiegst Ald @ gioerg gferdl aal. 3fsiig ATUg 3MMe. 1 @
] HfES a9 @i gifeR g, B!  °dt off A GTot g1 & &R I i el YT Fefiga U g
& AT ST AT for 25 Egf9."

fag dig e a el ot & wR @ arel ol vt 8. 4 E) e afgs oo gar. s
drs 3l dar. ¥R H Y theag HIS STHAT @i o chlch o113 Yoy, WR g @ Sl a1ed o ol @er &l
gs. ¥ Sig ORI a1, TR d Ig! § dril. chfg @ ol fol WeR . fger Tifeg SRR ot T ahreh & WR A
Srsfier fener STt o o1t 1 g3 581 R fafe fy diamséler St dsadier af &d. anfer feg g
ot # Ruté &g 3. rah o BR ST aTet Y I, SieR g1 ahich SR Faemmoftar St amyl, s @ ger
=% ATRAT 94T 1. O A UieiE @ 3 ged [AferdT, d 8% 7 ol sTdehdre! Aeaq l. fed e, oy
Mier], g a&as ¢ wier faeft uichia Sft s geng off 3. uichia afe @t ger oo 78 = &
STaTg 2. hie @ G 10T ot d Sfarel 7! Uield STt STid d ST I@al. At Ufgst 8 ST xaTsi sig &
forg oror @it gfeg@, § fg duffsh adeh wur @t gafd @ wid age kel Avg o1 srdmard: ot
gu oT! w1 S g § 3meny 3ie d wetyg U srig gR g # f¥afe fy; wr 918 gige S shgd fedt
Higsil d g=ariad 7 fayrg § Rt 931 3. &g d fayrg i! §Tel d deRI Shiehl I8 dd GHEsil ol
Hi fol g UM el 1 HT g4 S Yithd & FHei i gi! ST=fg § 99 @i gargg o Aedl 8, “g
g M g A et

Question:
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‘ ‘ SINDHI

|ItemNo: H 3

ID:

Question

1108103

Type:

Question

MCQ

Passage:

&8s f39e g & M |1 Ul gara sware fEt -

“TT! H d g SIg a3 ST §Y Tl € 3R] geTa gY. g7 ATvga St fRwd of1g 1@ 9t 39 oM
R g Jifest d v@ wg og St afg ag faae gfgst Ad @ gfehy gferat aat. srofig A1vg o, g7 @
] HfES a9 @i gifeR g, B!  °dt off A GTot g1 & &R I i el YT Fefiga U g
& AT St At fa 25 SgfL”

fag dig e a el ot & wR @ arel ol vt 8. 4 E) e afgs oo gar. s
T8 it dar. BR H Y thag A1 STHAT @i o chrch i1 Yfogid. IR g @ S6iA a1erd o fal @eR i
gs. ¥ Sig ORI g, TR d Igi § drell. chig @ ol fof WeR i, fgeh Tifeg SR ot d hreh St ¥R Ai
Srsfier foner STt & Srelt <81 g3, 58T FRiehra foafs foy dramsélarn St dendier |f &g, anfer feg €ig
Ot # RUTE &g 3%, Toh S OR ST dTelt 9T 4. 3faR 81 hich S4R FATTunar S T1g], ik @ gl
2 A1 93 &), o 4 uielie @ sie gaa ffer, a R & &) srdeard) ARad 8). R i, o
Mier], g axaas ¢ wier feft dichia Sft Hs geng off 3. oicha afv @t ger o1 78 = &
STaTg 2. hie @ G SN0T ot d Sfarel © 7! Uleid STt STid d TR @&l A Ufgst 8= Sii axaTsi sig &
firg uror @t gy, Qmuﬁﬁﬁmﬁ?ﬁm@gﬁmﬁaﬂﬁwaﬁﬁm@mwﬁﬂﬁ
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Higsl d saT-ad Af fayrg € A 93T 3g. & o Ay het! 8T d daRI Ikl g de el Il
i o 827 ORI SfEal. I AT g4 S Ithd @ wHel Fuf gi! ST=fE g 9 @i garg & Meal 8, "3
g Al guH sg!”

(
o
(
(

“EG TF §OTU]" SEIATE St HIFT 3116 -
e Es

g5 gom

STRHIRT GIAUT

1
2
3
4) Hg g

L N

| Section:

‘ ‘ SINDHI

| Item No:
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ID:

1108104

Question
Type:

MCQ

Passage:

&f® 29 ga & o= @i ud gare sare f3a -

“TT ¥ d g Sig Qi1 ST STl g9 UUT § 31 qurdl gl. g4 HIvgat Sit fgAd oiig Ha =i §97d 31Te;
R g Ifgst d Tt &g 3 i 7fg of1g A gfest Aid @ gfemrg gforat oo, srftg #1vg ong. g7 @
THETY] Hfgst a9 @i F1fex oM. We!  adi off T Af G910t g4 & R d it Haly G Asiig U g
& AT ST A for 25 Sgfa.”

ferg £ig fegf™ @ Raa=moft |ifgs &t &R @ drelr o ua gl | gqfer v aifgs o gar. o™
arg oreft dar. BR H oY dhrag ATE AT @i @ik o11g I, W g @ S8 amed & {3 @er diE
gs. ¥ Eig oI o, R d Jgl § dlell. chig @ ol o @aR i, fgen Tifcg SR ot d hieh o @R #i
3rofte forer STt o orelt 3@t 8. 81 frenraa g for Sremsdiar <t dshdror af &g, snfer feg Eig
uteie & RUTE &g 3. ahrch St O ST a1l Wt a4, 3faR g1 chich SR faemmofter St @1g]. ahich @ gel
2 Aift aa) g1, wR Wi uielia @ s gad fafern, @ R @ @l andward! ARad 8. R Ui, o
e, o3 ewads ¢ wier o uiela Sft s gy oft 35, diefia afef @i ger mer & ) &
STaTg 2. it @ $gY 10T g1 d STarel S 7! Uleid STt STid J ST T@al. A Ufgst 8= ST RaTsi oig &Y
fog uror @i gfeg@, ¢ g digsht adust ®ur @i gfsafa q «1g dige sifgsl H1vg 81 srdeaard! off
Y T w7 ST fge § STy 3 d 9814, ¢ §RR gR 5ar= # i {9, R W1E T1gd ST ahed 2t
Higslt a saad A1 fayrg € Aad gt ong. &g d Ay oot! g1 a daRI dIeh! g de et Il
7 for 831 U= Sfeat. iRt 71 g4 S fthd @ Tt i g1l ST=f § 9 @i garg o a8, “3
g Al g qH 1!
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Question
ID:

1108105

Question
Type:

MCQ

Passage:

&% f39e g & M |1 U gara sware 3 -

“FUT! H d g Sig Il 3T ST g °UN § 317 gurdl gl. g4 HI0gst Sii fgrd iig H@ a2l $37d 31Te;
mgaﬁﬁaw}ﬁmﬁﬂﬁm%ﬂﬂﬁﬁdm@gmug gferar aa. arsiig]) AU 316, &1 @

TS HigSt o @i g1feR oife. We!  adi ot F A7 gwol g4 o @R d goit Hal¥ g Asiigh ¢ g
@nﬁ&a’rqﬁrﬁré‘é@."

farg £ig fegf 9 fae=roft arfge S &= =@ aret o uat gt | afeat fhd srfee aan gar. o™
dTg et dal. TR H &Y theag AT ST @i {8 ehich o1g §fagfA. IR g7 @ I8 srad o ol @er &l
gs. ¥ Sig ORI g, TR d Igi § drell. chig @ ol fof WeR i, fgeh Tifeg SR ot d hreh St ¥R Ai
Srsfier foner STt & Srelt <81 g3, 58T FRiehra foafs foy dramsélarn St dendier |f &g, anfer feg €ig
Ot # RUTE &g 3%, Toh S OR ST dTelt 9T 4. 3faR 81 hich S4R FATTunar S T1g], ik @ gl
2 A1 93 &), o 4 uielie @ sie gaa ffer, a R & &) srdeard) ARad 8). R i, o
Mier], g axaas ¢ wier feft dichia Sft Hs geng off 3. oicha afv @t ger o1 78 = &
STaTg 2. hie @ G SN0T ot d Sfarel © 7! Uleid STt STid d TR @&l A Ufgst 8= Sii axaTsi sig &
forg oror @it gfeg@, ¢ g diish adueht wur @t gRafd 9 wid e iR Ay a1 srdwardr ot
Td oYl U1 ST fge § oery ofe d weryg U s gR g~ # i Ry iR 918 |ige <1 dhgd f2t
Higsl d saT-ad Af fayrg € A 93T 3g. & o Ay het! 8T d daRI Ikl g de el Il
7 o 821 TR SfEal. I AT g4 S thd €@ wHal |ui gi! ST=fg g 9 @i garg o Medl g, “g
g A g gH ag!”
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ID:
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Type:

MCQ

&8s f39e g & M |1 Ul gara sware fEt -

“TT! H d g SIg a3 ST §Y Tl € 3R] geTa gY. g7 ATvga St fRwd of1g 1@ 9t 39 oM
R g 3Ifes d T@ wg 3mg il 1fg @1s f3et gfgst Aia @ gy sfort aa. srofig Amvg omg. g7 @
] HfES a9 @i gifeR g, B!  °dt off A GTot g1 & &R I i el YT Fefiga U g
& Hrtor i A fa 2 e

foo 2 f2sty g oot gffa S 99 © arat o ugr 81 |5 gatE o a2 aar g27 9




drg 3l dar. @R H Y thag ATE SHAT @i fd @hrch @13 Yoy, )R g4 @ Sl ared o o @er &hia
gS. ¥ Sig ORI 9. TR d Igi § dIeil. chig @ ol o WeR chi. fgeh Tifeg TR of  ahrch o wR #i
Srofter feher STt o orelt 3t §8. 81 Ienad g for Siemsdiar <t dsherer Af &s. snfer feg i
ureite # RUTE &g 5. 1ch &t O ST a1l Wt 9. 37aR g1 chidh SR faemmofter it @mg]. ik @ gel
25 A1ia) ot g1, W A Uelie @ 3 e fifer, @ R F o adeard) ARad gl Be e, oy
i, o3 axardst ¢ wier 2wt uiela St s geng oft a3, uiefig afdef @t ger mer &8 ) &
STATq] <. thig @ $gg JN0T §of d S1aTd S 7! Uleid Sif 519 d SIRY Igal. A Ufgst 8= S a3aTsi sig &
forg oror @i gfeg@, ¢ g duidsh adoeht wur @t gafd 9 wid g iR Ay o1 srdwardr ot
Td oYl U1 ST fge § oery ofe d weryg U s gR g~ # i Ry iR 918 |ige <1 dhgd f2t
Higsl d saT-ad Af fayrg € A 93T 3g. & o Ay het! 8T d daRI Ikl g de el Il
i o g7 TR SNfedl. I AT g4 S thd @ WAl |ui gi! ST=fg g 9 @i garg 1 Meal 8, “3
g Al guH sg!”
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ID:

1108107
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Type:

MCQ

ofs B9e g & M |1 U gara Sware 2 -

“FUT! H g Sig Il ST ST g °UN § 37 gurdl gl. g4 HIvgSH Sil fgAd ol H@ g€l $97d 311e;
R g o1t a wat &g o ot 71fg ong faer gfest Aid @ gy sforat oo, srftg #1vg omg. g7 @
Y] Hfgs a9 @i F1fex ofe. We!  adi off  Af Gt g4 & R d it Haly G Asiig U g
& AT ST AT fof 28 Sgf9.”

farg £ fegf™ @ Raa=moft Aifgs & @R @ drelt o uat gl § afer v aifgs o gar. o™
drg 3l dar. @R H Y thag ATE SHAT @i fd @hrch @13 Yoy, )R g4 @ Sl ared o o @er &hia
gS. ¥ Sig ORI 9. TR d Igi § dIeil. chig @ ol o WeR chi. fgeh Tifeg TR of  ahrch o wR #i
Srofter feher STt o orelt 3t §8. 81 Ienad g for Siemsdiar <t dsherer Af &s. snfer feg i
ureite # RUTE &g 5. 1ch &t O ST a1l Wt 9. 37aR g1 chidh SR faemmofter it @mg]. ik @ gel
2 A1Ra) ot g1, W A Uelie @ 3k e fifern, @ R F o adear) Agad gl Be e, oy
Moy, P geardy ¢ et f2dt e St s gem oft 35, el afet @i get oer &8 ®) &
STATq] <. hip @ $gl JNUT gt d S1aTd & 7! Ureid Sff STia d SIRY Igal. A tfgst 8= STt g3arsi sig &
forg oror @it gfegf@, ¢ g ufdsh adueh wur @t gfdafd @ wid age SRl Avg 81 srdawardr ot
e oYl Ut ST g § Sery oie d Temyg U s gR g~ # 2l Ry iR 918 |ige <1 e f2t
Higsll d g=aTi-ad 71 oy § Ao aat ong. @i o fayg &st! g1 d daR ekl g d¢ pestt aal.
i o 827 ORI SfEal. I AT g4 S Ithd @ wHel Fuf gi! ST=fE g 9 @i garg & Meal 8, "3
g Al guH sg!”
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MCQ

Passage:

8fs e gam & oA it udt garet srare -

“FOT! § d g SIg SIS ST 8 90T § S Gl §l. g HIVgST St [gAd &S 5@ a1 g91d 31Te;
mgaﬁz’ram}ﬁmﬁﬁﬂﬁ%m%mﬁﬁﬁ@ﬁmgﬁﬁaﬁ 3rsitg HIUE 316, g @
THETY] Hfgst a9 @i F1fex oM. We!  adi off T Af G910t g4 & R d it Haly G Asiig U g
& AT ST A for 25 Sgfa.”

forg &ig fRgfr 7 faammoft aifges S R @ arelt @l o 8. o THfert 6 aifge aan gar. s
arg oreft dar. BR A Y dhrag ATE ST @i 3 ok 18 IR, W g @ Sef aed @ fY @WeR
gs. ¥ SIg ORI 941 W d Jg! § Il dhig @ I [0 WeR . fgeh Tlfeg T off T lch o &R Al
3rofte fore Sft aie oret 381 8. 38T RIema gt fy drarsdter St dohdtor @i 3. onfer feg £ig
uteie & RUTE &g 3. ahrch St O ST a1l Wt a4, 3faR g1 chich SR faemmofter St @1g]. ahich @ gel
2 ATfal a9} g1, R A uielie @ she gad ffern, a R & &) sndwar ARad 8. R i, o
TMifeR], $5g SEaE € hier fe&t uieha St g &9 oft a5, diche afet @i ger mer &8 W &
STaTq 2. hie @ P JT0T §ST  STarel S 7! Ureie STt SId J ST T@al. A Ulget 8= Si eaTel aig e
frg uror @i gfeg@, ¢ iy ufigsh afuct wor @t geafd @ g aee Sfgel Avg o1 sindmard! o
Y Tl wuT ST {3 § oy o d 9814 ¢ o' g g # fafa f9; wr wi1E wnge S avga f2eht
Higslt a saad A1 fayrg € Aad gt ong. &g d Ay oot! g1 a daRI dIeh! g de et Il
i far 821 R Snfedl. I A1 g4 & fthd @ wwsh qut gi! S2fg g 9 @i garg & et 8, ‘3
g Al g qH 1!
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Passage:

&% f39e g & M |1 U gara sware 3 -

“FUT! H d g Sig Il 3T ST g °UN § 317 gurdl gl. g4 HI0gst Sii fgrd iig H@ a2l $37d 31Te;
mgaﬁz’raw’rwaﬁm’rﬂﬁm%ﬂﬂg@@rdm@gmug gferar aa. arsiig]) AU 316, &1 @

TS HigSt o @i g1feR oife. We!  adi ot F A7 gwol g4 o @R d goit Hal¥ g Asiigh ¢ g
@nﬁ&a’rqﬁrﬁré‘ﬁgﬁ."

farg £ig fegf 9 fae=roft arfge S &= =@ aret o uat gt | afeat fhd srfee aan gar. o™
dTg et dal. TR H &Y theag AT ST @i {8 ehich o1g §fagfA. IR g7 @ I8 srad o ol @er &l
gs. ¥ Sig ORI g, TR d Igi § drell. chig @ ol fof WeR i, fgeh Tifeg SR ot d hreh St ¥R Ai
Srsfier foner STt & Srelt <81 g3, 58T FRiehra foafs foy dramsélarn St dendier |f &g, anfer feg €ig
Ot # RUTE &g 3%, Toh S OR ST dTelt 9T 4. 3faR 81 hich S4R FATTunar S T1g], ik @ gl
2 A1 93 &), o 4 uielie @ sie gaa ffer, a R & &) srdeard) ARad 8). R i, o
Mier], g axaas ¢ wier feft dichia Sft Hs geng off 3. oicha afv @t ger o1 78 = &
STaTg 2. hie @ G SN0T ot d Sfarel © 7! Uleid STt STid d TR @&l A Ufgst 8= Sii axaTsi sig &
g uror @i gieg@, ¢ fig uigsh afust wur @t geafd @ o€ g sige! A1g o1 sdmard! o
gu oT! w1 S g § 3meny 3ie d wetyg U srig gR g # f¥afe fy; wr 918 gige S shgd fedt
Hfgst d gaTad # fayrg € Rl gt omg. &fg d fAyrg et g1 d darI &renl Tg A ot aat.
7 ol g7 ORI SNfedl. I AT g4 S fthd @ wHsl 9ut gi! ST=fg g 9 @i garg o Medl 8, “g
g A g gH ag!”

Question:
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Passage:

&% f39e g & M |1 U gara sware 3 -

“FUT! H d g Sig Il 3T ST g °UN § 317 gurdl gl. g4 HI0gst Sii fgrd iig H@ a2l $37d 31Te;
R g JIfeS d 3@ &g 38 S 91 @1 f3e qfes Aid @ gy sferat oo, sftg Avg ag. g7 @
TS HigSt o @i g1feR oife. We!  adi ot F A7 gwol g4 o @R d goit Hal¥ g Asiigh ¢ g
& A ST A o 2E SgfL”

farg £ig fegf 9 fae=roft arfge S &= =@ aret o uat gt | afeat fhd srfee aan gar. o™
dTg et dal. TR H &Y theag AT ST @i {8 ehich o1g §fagfA. IR g7 @ I8 srad o ol @er &l
gs. ¥ Sig ORI g, TR d Igi § drell. chig @ ol fof WeR i, fgeh Tifeg SR ot d hreh St ¥R Ai
Srsfier foner STt & Srelt <81 g3, 58T FRiehra foafs foy dramsélarn St dendier |f &g, anfer feg €ig
TT B RUTE & 9. ahich S 97 AT J16T 9T I8, 37ET Bl ik e9v Raa=muttar S A12]. & © 9




2 A1RE) Tt g, WX A Uelte @ 3k e fifer, 7 TR A & adeard) ARad gl Be e, oy
Moy, P geardy ¢ et f2dt e St s gem oft 35, el afet @i get oer &8 ®) &
STATq] <. hip @ $gl JNUT gt d S1aTd & 7! Ureid Sff STia d SIRY Igal. A tfgst 8= STt g3arsi sig &
frg uror @i gfeg@, ¢ iy ufigsh afuct wor @t geafd @ g aee Sfgel Avg o1 sindmard! o
oY ! wuT ST {3 § oy g d ge1g ¢ §R g g # fafa i, R wi1E wrge St e 2t
Higsll d g=aTi-ad 71 oy § Ao aat ong. @i o fayg &st! g1 d daR ekl g d¢ pestt aal.
i o 827 ORI SfEal. I AT g4 S Ithd @ wHel Fuf gi! ST=fE g 9 @i garg & Meal 8, "3
g Al guH sg!”

ShTch o B AT Urelty @ fAferr -
(1) forale, miferd, ewarast ¢ wier
H{'lf'la'@"'?
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ID:

1108111
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Type:

MCQ

8fs 39 g & o @i Ul gare ars wam 341 -

19 |1 St onf@R # fgg o & 7 urefegf ey off fef fegf Asmd e ot gt
AT S AAf ey A SR aRdl, @ O o o & fRwg o ey, qaemE ¢ e fa aforar.
Higsl fUar 59 gensel &1 d A1 HaR™ Snfeamft s sfeaar &l g, d a3t S/ Sl /A1ETg URATHG
et geft $ar$ fr €1 aet §¢ f§ Tder g [ o i 7 oy o, ISl aud of ¥R &S
e ofY, e afeemgor at grera @t st fagfa!

AT, g, 7 R dfEs far s arang 8, ) gef i gRat 2kg fip 8. g afeiR
fag- feu i srmior aft €ai g ¢ ufgsh arfor (4fgSh =) @ sinfg- afgaiyg miced &, ufgs
W 7 fger 78 DU e, Sk gereRT ¢ siaee afafoyg ¢ ugre, Gigsht = aofd mic sife
he, hdfal SMUTTET g8, ¥ g I =ifuster # fordal dat gl. g dal gl “ad gaxene of e H 3fS R
gicht STvics At g § diag iR sfef- %Wwﬂd’rg@wﬁm Sidifore S8T fof gehiehd
3Te d 3¢ g%, fareelt areR udt-foredt far i svifeey amfg

Trffer aXg a9t ST2fE § a9 i S ie7 o S 18 dal g, 9 3d gilgq RgA ¥ sfAerf S
m%ﬁ%uﬁﬁﬁmﬁﬁzﬁaﬂﬁjaﬁaﬁﬁn

g Ifd B wifee R ok arter Ry St athe &, O S el @i Ui, ufgiord 9 Avige
feferarRy, famefl- oisil- fAwft Sie ®url g4, g fawgl " fefhafgl it @y, ot org arg foan
75!

TRATE HIRT SiT fRAfhe- 2reliE A o1 @1 A0 & gal gs; W Haid Gy @eehl § =i gal
afT @ =rer guiar gar.

Question:

‘Thefsl STTUTY]' STt HHT 311G -
(1) e srmorg
(2) &Y

e\ T R T LRI N




| Section:

‘ ‘ SINDHI

| Item No:

|12

Question
ID:

1108112

Question
Type:

MCQ

Passage:

ef® B9« g & v |1 ud) gara arg srare 2t -

19 wdler & onf@R # g uf & woft urefegf faeny oft f6f femgf wewwa fow uret s
AT & "qai ey # SR aRal, 9 iy e a3 & g, uw ey, geemE € foheare for afor.
wfgall fUar 5 gersal &1 d AT HaRE SnfSamft SEar Sfeaar ol g, d a3t S/l Sl "IETg AT
Trderoft gsit $ars gt gt aret 35U f adal g Yph 9me St Af gy ap, Sist 9ud St SRR &%
ATTreR off, o afeegUr art gierd @i s oy

TRAHE Ta=att, 7 [t digst fiar st Ararg g, «) 9ef¥ Rfer gRar aieg fu 8. g sifeefie
fag- fou i srgiot aft €at g o ufesh arhor (Ffgsh =) @i sienfy- afgaig miced &2, ufgs
e A g At TSt wel, Sich HeravT U s&aalg ararorg ¢ Ugrhl, Higs SISt 9rvf e sifes
che, hafer SUfiEY g8, © § I AIUSHer | fordal dal gl § Jdal 8, a9 gaxiang of 2 7 &fd &
gictt Svice At g § diwag ofikq snfef- e Hfesht Arar ¢ &t wAfgsh A, Sidifores gar & gehiera
31me d 58 @3, et srar udl-foredht far i wvifey snfgfa

arifter avg adt ST=fe g amel &t aHier & o g dar g, 9 Id gyl ARgf € wferf
T 3 38 ug ufgsht 37 aifuster # e chet dal 81|

g dfa e oifge R ok arter Ry St awhe &, T S dermet @i Ui, ufgford 9 Asge
fEfhafd, Rmefl- oS- R=ft S Bury g4, s fawel " RfchaRgM St @y, sraf org arg foam
75!

URHATE HART ST fRAfhe- 2reltg | ol @I AT 1 gl §3; TR Ty GiR @eehl ¢ I gal
i+t @ =TT quier gar.

Question:

WA HaR™ oikdch S fUdT S g -

| Section:

‘ ‘ SINDHI

| Item No:

|13

Question
ID:

1108113

Question
Type:

MCQ




ef® B9« g & v |1 ud) gara arg srare 2t -

19 S & onf@R # fgg o S 7o urefegf ey off fef fegf Astwd few ot gt
AT & "qai ey # SR aRal, 9 iy e a3 & g, uw ey, geemE € foheare for afor.
wfgall fUar 5 gersal &1 d AT HaRE SnfSamft SEar Sfeaar ol g, d a3t S/l Sl "IETg AT
THTETO geit $ars At g1 st 56 f Tdet g Y oe S Af $gg O, Sl 99d S SRR &S
AiEes oft, g+ afdamgur adt grerd @i sl fagfa!

WRAHG IHT=E0f, 7 fad dfgst fuar St Ararg g, w e ffer gRar aieg vy . g sifefar
fag- fod dig st aft dat g ¥ ufgsh arder (dfgsh =) @i shwif- wfgariyg miceg e, dfgs
wrd A fgen 4 TS wdl, Sidh qgrarr ¢ s&erg wfaforg ¢ ugre, Hfest sl amf@ mic sifes
he, hdfa SMUMiET g8, & § S IITUSIer # forgal dal gl. g Jdal 8l; “I gaxiae of 2aR H 3fe f&meft
gictt Svice At g § diwag ofikq snfef- e Hfesht Arar ¢ &t wAfgsh A, Sidifores gar & gehiera
31me d 3¢ @8, faeeft srer udl-foredt far i srvifez snfgfa e

arfler aXg ot ST2fE § are &f gier o e o5 dal g, 9 3d gilgl RgA ¢ sfAerf S
T 3 38 ug ufgsht 37 aifuster # e chet dal 81|

g A fea anfger IR R FRier ¥y St 9w o, T1eriA o sherned @i Ui, ufgfsiy 9 Ags
fefehard, fawfi- sitsil- =t Sirs ®urg gd, s fo=gl " fefhsRgM St oy, sr@i oy arg fomn
75!

TRATE HIRT SiT fRAfhe- 2reliE A o1 @1 A0 & gal gs; W Haid Gy @eehl § =i gal
it @ =TT quier gar.

Question:

gIiRgf aifgf ¢ wfderf s o aiftdier & o5 det 8t -
(1) WRHEAF=< IHA=Z0f

(2) #HaR™ snm=arft

(3) URHM< HHTSTUIT

(4) <IRM Ustarft

| Section:

‘ ‘ SINDHI

| Item No:

|14

Question
ID:

1108114

Question
Type:

MCQ

Passage:

&fs 399 g & o @i Ul gare aré wiame 24y -

19 T & NRR & o v of vt Urafegf Ry o R R weewrd R ot wrgit
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
TrdeToft geft S gt g1 aret 3¢ f& ader & ek ome S A G I, IS Sud o SRR &S
A1ideh 2ff, 4 afeegur arl grerd @i st fagfa!

TRAE IFE=avit, A 8t Hfgst fUar s Ararg g, iR Haf¥ fefel gRar g fug gl g sifefar
Rig- R 2ig oraiol aR 31 & § ufgoh Arelor (e =) i oM wfeaRe wieed, o, R
© A fger A< TS R, Sich HgrerT ¢ s&aag afafory ¢ ugrr, Higst st Ao mifeg difeg
e, hdfer SMUfiel g8, T § 37 TfuSter A foraal dal gl. § Tdal 8, ‘TS gaxeng of e A 31 R
gicht STvics At g § URAq SR snfe- e Hfgst Arar ¢ & dfgsh A, Sidifore g8 & gehieha
3ME d e g =l argw udl-fordt iy i sruifes s




arfler aXg ot ST2fE § are &f gier o e o5 dal g, 9 3d gilgl RgA ¢ sfAerf S
T 3 38 ug ufgsht 37 aifuster # e chet dal 81|

g dfa e oifge R ok arter Ry St awhe &, T S dermet @i Ui, ufgford 9 Asge
fefehard, fawfi- sitsil- =t Sirs ®urg gd, s fo=gl " fefhsRgM St oy, sr@i oy arg fomn
75!

TRATE HIRT SiT fRAfhe- 2reliE A o1 @1 A0 & gal gs; W Haid Gy @eehl § =i gal
afT @ =rer guiar gar.

Question:

A Sl fuar dfgst e &fs arfeies A -
(1) I THATEA I

) SrE aEd

) TR

)  HARMW SEarft

| Section:

‘ ‘ SINDHI

| Item No:

|15

Question
ID:

1108115

Question
Type:

MCQ

Passage:

&fs 399 g & o @i Ul gare aré wiame 24y -

19 G & onf@R # fgg o & 7ot ure faemg oft fhfA fergf Agwwd feo urd sign
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
et geft $ar$ At g1 aet 5¢ fy Tdet g Seh o i 7 g o, s S of ¥R &S
e ofY, e sfeermgor at grera @t et g

RATE IFE=aToft, 9 fad Hfgs fUar st |rarg g1, R dafd fefer gRar ag Uy gl g sifefir
fag- fod Sig srarst aft €at g ¥ ufgsht arehor (AfgSh =) @t ey afgarfd miceg &, dfgt
e A fge At At sdl, Sich TgravT U seaarg afaforg ¢ ugren, dfgst st aof@ mic sifes
che, hafa SMUTTET g8, ¥ g I difusier # feredal dat gl. g =wdal gl “gd gerene f wg? | 3fS [
gicht Svics At g § URAq SR, sigf- %Egﬁﬁﬁnmﬁﬁgﬁwﬂnr@ﬁ Sidlforeh 38T fof gehiehd
318 d 58 @3, et arer udl-foreh fay i wvife smfgfat

el dRE It STEfE § 919 &G S 197 o I 15 dal 1, 9 3d gig[ ARgH ¢ sfAerM S
w%&muﬁﬁmﬁﬁﬁaﬂaﬁaﬁﬁﬁ

g T fga anfee R IR IRter ey S 9the &, | ST el @i Uig, uiefoi @ Asge
feferarRy, famefl- oitisl- A=l Siie surd g4, g fawgl " fefhaRgl it wmy, st org arg foan
75!

TRATHG HIR™ SiT {RAfke- <refie & o1 @1y i1 o gél gs; W el G @eehl § i ga1
wfaT @ =rer guiar gar.

Question:

"I geXTaTe of MR A TS fRAeeft Fieh svies Rk g € divag ok anfef”, e oig =at -
(1) @gah St A

(2) oRge S fuar

(3) wWHAM=< HIRM




| Section:

‘ ‘ SINDHI

| Item No:

|16

Question
ID:

1108116

Question
Type:

MCQ

Passage:

&fs 399 g & o @i Ul gare aré wiame 24y -

19 T & NRR & o v of vt Urafegf Ry o R R weewrd R ot wrgit
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
et geft $ar$ At g1 aet 5¢ fy Tdet g Seh o i 7 g o, s S of ¥R &S
A1ideh 2ff, 4 afeegur arl grerd @i st fagfa!

RATE IFE=aToft, 9 fad Hfgs fUar st |rarg g1, R dafd fefer gRar ag Uy gl g sifefir
fag- fou i ermiot it €ai g ¢ ufgsh arfor (dfgSh =) @i sy afgaiyg miced &, ufgs
© A fger A< TS R, Sich HgrerT ¢ s&aag afafory ¢ ugrr, Higst st Ao mifeg difeg
che, hafa SMUTTET g8, ¥ g I difusier # feredal dat gl. g =wdal gl “gd gerene f wg? | 3fS [
gicht Svics At g § URAq SR, sigf- %a?gﬁﬁﬁnmﬁﬁgi%@ﬂnwﬁ Sidlforeh 38T fof gehiehd
318 d 58 @3, et arer udl-foreh fay i wvife smfgfat

Tfter TRE o STSfe § 919 A g o A @15 dal 81, T I g1 ARG T sfAer[ S
W%ﬁﬂ?qﬁﬁtﬂiﬁﬁﬁa{ﬂﬁﬁaﬁﬁl

g T fga anfee R IR IRter ey S 9the &, | ST el @i Uig, uiefoi @ Asge
Ry, R sish- R o2 ourd g4, sef Rl " RuRaR st ey, ort g aré R
!

TRATE AR Sit fAfeher- <reltg & o @i s e g8 g3, W dafd gfYy weeh! ¢ =i g
wfaT @ =rer guiar gar.

Question:

Hrtar i Rear one -
(1) =13 St g
(2) HTHTST STt 0]

(3) gihter it sty
(4) o sit sy

| Section:

‘ ‘ SINDHI

| Item No:
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Question
ID:

1108117

Question
Type:

MCQ

||_"u:n_ﬂ it T N ™ [ ™




Passage:

610 I2+1¢1 gohs oh i Sl M6l 34l dig vidid |24 -

19 T & onf@R # fgg o & vt urefegf fReg off fef fegf Astwd foa urst st
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
TrdeToft geft S gt g1 aret 3¢ f& ader & ek ome S A G I, IS Sud o SRR &S
Aiien off, o afgamgor ait g @f st fagfa!

RATE IFE=aToft, 9 fad Hfgs fUar st |rarg g1, R dafd fefer gRar ag Uy gl g sifefir
fag- fod Sig srarst aft €at g ¥ ufgsht arehor (AfgSh =) @t ey afgarfd miceg &, dfgt
e A fge At At sdl, Sich TgravT U seaarg afaforg ¢ ugren, dfgst st aof@ mic sifes
che, hafa SMUTTET g8, ¥ g I difusier # feredal dat gl. g =wdal gl “gd gerene f wg? | 3fS [
gicht Svics At g § URAq SR, sigf- %Eﬁﬁﬁﬁﬁﬂmﬂéﬁgﬁﬁﬁm Sidlforeh 38T fof gehiehd
31Me d 3¢ @3, el srer udi-foret for i syTvife snfgf ™

el dRE It STEfE § 919 &G S 197 o I 15 dal 1, 9 3d gig[ ARgH ¢ sfAerM S
T i 5 ug ufgsht 3 wiftdier A aof dhet et gt

g dfa fg= anfgs dR R w1dter ey S athe e, FIei S el @i alg, ufgfoyg 9 Asge
feferarfd, fawfi- sitsil- fwft S Burg g4, sof fo=gl " RfhuRygl it @y, sraf ey arg fomn
7!

TRATE AR Sft fAfeher- <relte & o @i s e g4 g3, W dafl gfYy weeh! ¢ =i g
wfH=t @ =TeT guiar gar.

Question:

TRHATHE AIIRI USEThIY SUTT -

| Section:

‘ ‘ SINDHI

| Item No:

|18

Question
ID:

1108118

Question
Type:

MCQ

Passage:

&f& f39e g & M |1 ué) gara a1s siam 24t -

19 e & oNTRR 7 o, o o <t wrafegry ey o FrfY Rogf wevwa for @ st
TS S Aaf ey # SR aRdl, 9 oy o et & feg ot kg, qaemmE ¢ fohears far aforan.
Higsl fUar 5@ gursal 8f d AT AaRM Snfeamf S SfEqaR &l g, d a3t S/ Sl ATdTg RATG
THdeoft ot durg At gt st 3¢ f Tdet g e o i Af gy o, g dHd S o B
Ak o, e sferTgor At grerdl i e R

RS IHT=aI0l, 9 & gfgst fdr St Ararg g1, W e fefel gRar aeg fuoy gl. g sifehfer
fag- fod i sraiot it €ai g O ufgsh arfer (4fgsh =) @i stnfy- afgaig miced &, ufgs
|9 71 fgen F81 AUt wdl, Sich geraxT U s&aarg afaford ¢ ugrer, Higsh srEt 9 mieg difes
e, hdfe SUTET g8, T § I aifuster # fordal da g1, g Jdal gl “Hd gaxreng of e # fS Rt
gicht STvice At g § URaq oiiRg snfef- e Hfgst Arar ¢ & digsh A, Sidifore ge1 & gehieha
318 d 38 a3, A=t srer ugl-foredt iy A Srvifey snfgfAl

grfter aeE ) <1 & a9 9f ahter o o1 o1 der &, 9 34 eilgfa ailkgf ¢ sfferfa s




AN e

T ¥ 3 Ug ufgsh 39 Siftier & a<f gl dat &l
g 3fd B wifge R ok arter ey St athe &, I S el @i Ui, Ufgiord 9 Avige
fefehard, fawfi- sitisil- =t Sirs ®urg g4, s fo=gl " fefhaRgA St oy, srai oy arg fuan
75!
TRATHG HIR™ SiT {RAfke- <refie & o1 @1y i1 o gél gs; W el G @eehl § i ga1
wfaT @ =rer guiar gar.

Question:

%ﬂﬁﬁw—@?ﬁa‘r@u’r
UR HeY G @eehl U T gdl
TRATHE HIRTH S
ohT T chiRI I el §S;
GiuHT @ =1er quiar ga

S T I ) 9
““u_§
u )

> W m
w m O
OO0

| Section:

‘ ‘ SINDHI

| Item No:

B

Question
ID:

1108119

Question
Type:

MCQ

Passage:

&fs 399 g & o @i Ul gare aré wiame 24y -

19 T & onf@R # fgg o & vt urefegf fReg off fef fegf Astwd foa urst st
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
Eeroft geft $ars Rt g1t aret 3¢ f& wdel g Eh g S | g axh, SIS a9d o SRR &fS
e ofY, e sfeermgor at grera @t et g

RATE IFE=aToft, 9 fad Hfgs fUar st |rarg g1, R dafd fefer gRar ag Uy gl g sifefir
ferg- feu Sig sraist afk Zat g1 ¢ ufgsht Ardter (dfgsh =) i oty dfgariyg mieed e, dfest
© A fger A< TS R, Sich HgrerT ¢ s&aag afafory ¢ ugrr, Higst st Ao mifeg difeg
che, hafa SMUTTET g8, ¥ g I difusier # feredal dat gl. g =wdal gl “gd gerene f wg? | 3fS [
gicht Svics At g § URAq SR, sigf- %Egﬁﬁﬁnmﬁﬁgﬁwﬂnr@ﬁ Sidlforeh 38T fof gehiehd
31Tg d 58 o3, Rt srer udl-foreht far e wvifeg snfgfa

Trffer aXg a9t ST2fE § a9 i S ie7 o S 18 dal g, 9 3d gilgq RgA ¥ sfAerf S
T o 38 Ug ufgsh 37 aiftdter & aof dhal et gl

g 3fd B wifge R ok arter ey St athe &, I S el @i Ui, Ufgiord 9 Avige
feferarRy, famefl- oitstl- A=l e ®urd g4, g fawgl " ffhaRgl it wmy, st org arg foan
75!

TRATHG HIR™ SiT {RAfke- <refie & o1 @1y i1 o gél gs; W el G @eehl § i ga1
wfaT @ =rer guiar gar.

|| ~ Y — - g— - - ~ ™



Question:
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‘ ‘ SINDHI

| Item No:

|20

Question
ID:

1108120

Question
Type:

MCQ

Passage:

&fs 399 g & o @i Ul gare aré wiame 24y -

19 G & onf@R # fgg o & 7ot ure faemg oft fhfA fergf Agwwd feo urd sign
TS o Faf ey & SR aRdl, 9 oy e g & R o sy, qaemm ¢ foears fa aforn.
Hfgsi fUdT J@ gemsal 81 d 98 AaRM Sfearft % SfEdar &l g, d o 3rET St /16Tg URATHG
et geft $ar$ At g1 aet 5¢ fy Tdet g Seh o i 7 g o, s S of ¥R &S
e ofY, e sfeermgor at grera @t et g

RATE IFE=aToft, 9 fad Hfgs fUar st |rarg g1, R dafd fefer gRar ag Uy gl g sifefir
fag- fou i ermiot it €ai g ¢ ufgsh arfor (dfgSh =) @i sy afgaiyg miced &, ufgs
© A fger A< TS R, Sich HgrerT ¢ s&aag afafory ¢ ugrr, Higst st Ao mifeg difeg
che, hafa SMUTTET g8, ¥ g I difusier # feredal dat gl. g =wdal gl “gd gerene f wg? | 3fS [
gicht Svics At g § URAq SR, sigf- %Egﬁﬁﬁnmﬁﬁgﬁwﬂnr@ﬁ Sidlforeh 38T fof gehiehd
318 d 58 @3, et arer udl-foreh fay i wvife smfgfat

el dRE It STEfE § 919 &G S 197 o I 15 dal 1, 9 3d gig[ ARgH ¢ sfAerM S
W%ﬁﬂ?qﬁﬁtﬂiﬁﬁﬁa{ﬁﬁﬁaﬁﬁl

g 3fd B wifge R ok arter ey St athe &, I S el @i Ui, Ufgiord 9 Avige
feferarRy, famefl- oitstl- A=l e ®urd g4, g fawgl " ffhaRgl it wmy, st org arg foan
75!

TRATHG HIR™ SiT {RAfke- <refie & o1 @1y i1 o gél gs; W el G @eehl § i ga1
wfaT @ =rer guiar gar.

Question:

d@h St AT U AraTd o 3fEaar oAt g -

FUunN=MO0OT>»




RN E
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| Section: H SINDHI
| Ttem No: ‘ | 21

| QuestionID: || 1108121

| Question Type: H MCQ

S e e & v i ud) gar ard sare 2 -
et At e} gt fen IR ol 7 2,

g I9Y] 31T¢ TE! R Uig Higag d 2!

g d st ¥ guror &t ard o ¥,

Rreh AT Gi2gl o, e ar =g 7 f2g!
sfchfeaq § arme, T8 e &% feeTaR S,

Passage: ﬁma‘%ﬁﬁ, %ﬂ;m@mﬁ%ﬁ'
gid sifg o fegg g1ikan, enfg dfest g 4,
A0 Rraga g0y @y, | 90y fofa @1g @ fag!
ge St f2g @ 8R, sruef @ R afeeg,
chi= it ehreftar It gt dyg g 4 )
oot w74 TEl, wR ot T ot @ o,

qSH &l aIs d 12g, g ar ufesang a f2g!

1) fBg
2) o swent

| Section: H SINDHI

| Ttem No: H 22

| Question D: | 1108122

| Question Type: H MCQ

S e e & v i ud) gar ard sare 2 -
ot mieti ot Eoft fden aw ooy 7 2y,

g I9Y] 31T¢ TE! R Uig Higag d 2!

g d st ¥ guror &t ard o ¥,

e gt afEsl @, B ar A= d 2!
dfcnfeaq § g, A8 9 &% feeleR S,

Passage: ﬁma‘%ﬁﬁ, %ﬂ;m@mﬁ%ﬁ'
gid sifg o fegg g1ikan, enfg dfest g 4,
ot fasa Ty @, &fE Ty g« 7 fag!
ge St f2g @ 8R, sruef @ R afeeg,
chi=T St ahTeltar & Ufgsit dhy aIg d )
e 53 79 9. uw oft I9 of =7 3re)




e G 12 9 g, Reh ar ufdamg o feg!
‘FAIATSY]’ AT SiT AT 3G -
(1) @

Quest (2) #rgrTSit
(3) wRarT
(4) sromg

B |

B B

E E

E £

| Section: “ SINDHI

|ItemNo: “23

| Question ID: “ 1108123

| Question Type: “ MCQ

S B wfaar & W= |91 U gar ard sare 24 -
ot mrett et Eoft fven am oty 7 2y,

£ 9] 378 T IR g Higeg q f2g!

g  IES I guror & ard st e,

e AgT Gi2gl o, e arR 1=y @ 2!
sfrfeaq € amme, T8 &% 3% faeer S,

poge: || el AT gl Y, Rk AR Wity @ Ry
gia Sifg & g e, onfd fesit ger &,
ot Fargd @y vy, &g @y fofa g T feg!
ge ot f3g & &R, Rucfy @ &R afgsg,
chi=1 ft chrer @ wfgit dhyy Y T R
foet it A% T, w oft ge off ar o,

gsth G ols d f2y, few ar ufdam 7 feg!

(1) &%

(2) ag
(3) uig
(4) =

E E

E E

R

E E

| Section: “ SINDHI

| Item No: “ 24

| Question ID: “ 1108124

| Question Type: “ MCQ
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